PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

24th July 2016, 09:00 AM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

In a row of 31 cadets, when Joginder was shifted by four places to the right, he became the 12" from the left end.

What was his earlier position from the right end? / 31 Hecl Pl wuﬁmﬁ, Fﬁﬁlﬁ?ﬂ"ﬁﬂﬁﬂé 3R IR Il
¥ RIFaiYd forar 741, 98 918 Bk I 1247 99 7471 &7 3R I STD! Ugd aret fRufa o 42

® 20
® 19
* 24
°* 23
Correct Answer :-24
2)
Question Stimulus :-
Drupad Samaroh is held in / §U8 HHIRIE U8 g1 ©
° Pachchmari/tﬂ'qﬂj
e Gwalior / TR
* Ujjain/ IS
° Bhopal/‘l-ﬁ'qm

Correct Answer :-Bhopal / HUTd

3)
Question Stimulus :-

Name the Indian Political leader who served two times as acting Prime Minister of India- / 39 YR IeHdT

1 -1 FaT¢ S g IR UIRA & PRIATgS TUFHA 9 I-
® Gulzari Lal Nandalwww

* Lal Bahadur Shastri / QTel §gTgY AR
)



® N.Sanjiva Reddy / T. Toilq YS!

® G.S. Pathak / Sil. T, UT6®
Correct Answer :-Gulzari Lal Nanda / AR} €Tl <iaT
4)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

fFrafafad vy & e arde w0 & ) 1 gawT F 3R I9F 916 19 Ry U e A | g Suge
S H BT TG B

1.Book 2.Pulp 3.Timber 4.Jungle 5.Paper

1. /AP 2. TG 3. dHS! 4. SA 5. A
e 2,5,14,3
e 3,2,5,1,4
* 4,3,2,5,1
* 54,3,1,2
Correct Answer :-4,3,2,5,1
5)
Question Stimulus :-

Which of the following represent the three female members of the family? / FEd d
DI a1 fawen &9 sikal &1 ufaf=ifie war 32

e PTQ
e TRQ
e VTQ
e Data inadequate / g srer

Correct Answer :-Data inadequate / 3Udiw STl

6)

Question Stimulus :-



N~ = - - -

Select the option that is true about the Statements and Conclusions given: / dg fawe ?[ﬁQ
St fo T YAl vd fAspul & IR A 98 B

Statements: / PYA:
Some hands are legs. / 99 g1¥ W %'I
All legs are ears. / IV R FH %'I
Conclusions: / fo:
I. Some legs are hands. / I. 99 a?'e'w %’I
II. Some ears are hands. / II. P9 &M BY %'I
® Only conclusion I follows / Fad ey 1 Aeadarn %
® Only conclusion II follows / Faq fsed 11 Freaar 8
e Either conclusion I or conclusion II follows / aT Y fosst I a1 ftp fsad 11 fAwmeran %

® Neither conclusion I nor conclusion II follows / 7 dY fors®d I fA@adr % MR il feed 11

Correct Answer :-Neither conclusion I nor conclusion IT follows / T @ foreed 1 Fredar % eﬁ? T g’f
sy 11

7)
Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / e uy 'l?f, IR Vs f&u
T g, od § i 5t vor O 99 € 3R 916! U 3enT g 3IeRT aTal JTd S|

e Mango / 3H

® Lemon / ='ﬁ71

e Pear / ATIUT

® Orange / Rt
Correct Answer :-Lemon / g
8)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fape gﬁrq,iﬁ ab ot €Y
¥ fow ¢ Y= & wuE B



N e e E e e w mw = w w

“If you work hard, then you V\(ill get a good job. If you get a good job, then you will be
happy.”/ “3R 3Y Ag"d Hd 8, dI MUR! TP ST A Fraft | 3R emuspt 3=t st frereht

8, a¥ 3y =T /A" 1
e If you are work hard, then you will be happy. / 3R 3 Ag-d HId %', o GITUTE;,'E!T!%?H

e If you are happy, then you worked hard. / 3R GINQEZT%', ¥ 3 Ag=d I B

If you are not happy, then you did not get a good job. / 3R 30 G 78! §, ¥ ATuH
A T fredt 31

If you do not work hard, then you will not be happy. / 3R 30 Agd 78] ®d &, df Mg
G el 36l |

Correct Answer :-If you are not happy, then you did not get a good job. / 3R 310 =T
T8I 8, a1 3muspt A a1 freht 31

9)
Question Stimulus :-

The most important sculpture in caves is the Trimurti sculpture, depicting Brahma, Vishnu and Shiva. /

A ued weayul gidear Bt gfdfean, s, Ry sk Ra o1 Reor )
® Elephanta caves | TeTer ﬂ'WTGﬁ
* Ellora caves / TAIRT &1 '{[lb-la-ﬁ

* Ajanta caves / 3STdl ﬂ'l'-b_l'aﬁ

® Aurangabad caves / 3RaTTaTE '{[Q?I'Gﬁ

Correct Answer :-Elephanta caves / TiIbel ﬂTFTGﬁ

10)
Question Stimulus :-

A farmer grows 3 crops in rotation — Rice, wheat and Jowar. Rice is grown between the months June-Nov, wheat
between Feb - July and Jowar between Oct-March. Each crop takes 3 months from sowing to harvesting. At a time only

one crop can be grown. / T faT= frafire smad=T o 3 wad STITaT € -91ad, g 3R SR | 919d of-Adax
e & g, wradt 3R Jars & S g 3R ragaR-aTd & S aR IS ord! 81 TS BHa H garg 9
Pers P forg 3 A T4 € | U 99 A $ad U BId I7TS ol IPhdl gl

If the farmer wants to harvest Jowar in the month of December when is the latest he can sow Rice? /uﬁmr—r

R & 7 A SR 9 BU ST 1841 8, a1 98 Adad f6g 7 # arae §) g1 27
o ApriI/GI'aﬁ
* May/Wg



® June /S[d
° July /e

Correct Answer :-luly / 9[@Tg

11)
Question Stimulus :-

Which one the following served as the Original shooting reserve for the Maharaja of Gwalior? / IR &

HERTS & fore fpd wrTe A ga e fyord &1 ord foran?
* Bandhavgarh Sanctuary / STHUITG AHIRTY
« Bandipur Sanctuary / Si¢IqR SHIRTY
® Mahadev Sanctuary / HgTed HARVY

® Panna Reserve / TAT f¥o1d

Correct Answer :-Mahadev Sanctuary / rl?'l%ﬂ SHORUYg

12)
Question Stimulus :-

Raj wants to become a member of a club. The various membership options are as follow: /
I TP 949 $T P e g9+ gredl | Al Jewar & e 39 R 8:

A - Initial payment: Rs. 10000, annual fee: Rs. 1000 / A -3Rfi® YITdH: 10000 34, aIfie
ed: 1000 ¥0

B - Initial payment: Rs. 5000, Monthly fee: Rs. 100 / B - IR YIdE: 5000 ?ﬂﬁ, aRI®
eP: 100 3Ud

C - Life time membership fee: Rs. 20000 (Includes membership for all family members) /

C - Sil99 IR WSdl Y[eh: 20000 I (TRAR & Jft el & g Jexgar off =nfia §)

If Raj and his wife both want to become members of the club for next 5 years. Which plan

should they opt for? / e IS 3N ITP! Ul I 3T 5 T & T 79 & TG 94471 918 &1 32
e gieeT &1 g Tniee?

® EitherBorC/B YlC



Correct Answer :-B

13)

Question Stimulus :-

As ‘Friend’ is to ‘friendly’ , ‘opponent’ is to / S ERA’ ®g dl "\Qﬁ‘x’ﬂ?l', TRy o8 at
® Enemy / G¥HA
® Hostile / '«"IQT‘IT‘IUf
® Defeat / TIX

® (Contest / ?131'&‘
Correct Answer :-Hostile / XFATYUf

14)
Question Stimulus :-

The Companies Act , has replaced the Companies Act, 1956 in a partial manner. / UL Srftfraw

AU i & A SN SR 1956, B W ot B
* 2014
® 2010
® 2013
* 2012
Correct Answer :-2013
15)

Question Stimulus :-

Among five friends, Mohan is older than Raju but not as old as Lalit. Lalit is older than
Neelesh and Kabir. Neelesh is younger than Raju but not the youngest. Who is the

youth in the descending order of age? / Urd firAl §, Wg 79 A ToT 3 W aferd fra=m gs1 7|
gj%ﬁ,ﬁﬁvraﬁ?mﬁ?ﬁam%lm,wﬁ@a%mm@aﬂﬁl Y & AR U | BT gar

e Mohan /Iﬁ?ﬂ
® Raju /XI5
e None of these /37H ¥ ®IS 8!
(7)



e Can’t be determined / fRuff¥a a8Y far w1 Ioar
Correct Answer :-None of these /398 ¥ ®I$ 8!

16)

Question Stimulus :-

Who was the founder of the Indore Gharana of Hindustani Classical Music? / %@WF‘ﬂ URAE G * Ea'\'
R T HRITTS B UT?

® Amir Khan / MR @@=

® Shahmir Khan / mtﬂ'\f ECIG)

® Bashir Khan / TR @

® Aman Ali Khan / 39 3rdlt @

Correct Answer :-Amir Khan / 3R @4

17)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawea gﬁl‘t{
St fRE T HyAT vd Frspul & I § 9t R

Statements: / 9Y:
All shirts are not pants / 9} 3¢ e g &

All pants are shoes / ¥t U 9d &

Conclusions: / fAp:
I. Some shoes are shirts / I. 9 q?r e g

II. Some pants are not shirts / II. $ Uc 1 781 &
® Only conclusion I follows / Had ey 1 fApadr %
® Only conclusion II follows / pad ey 11 fFredar %
® Either conclusion I or conclusion II follows / aT Y fospt I a1 ftp forsad 11 fAameran %

(8)



Correct Answer :-Only conclusion II follows / Fqa freed 11 freaar @

18)
Question Stimulus :-

Which State is at the most eastern part of India? / BI9 91 79 YR BT g qﬁ’f HTT H %?
® Assam / 3HH

® Arunachal Pradesh / 3rSUITIA W=l

® Nagaland / AN S
® Manipur / 'Flﬁl'ﬂ'\'

Correct Answer :-Arunachal Pradesh / Wm

19)
Question Stimulus :-

Who was the 2nd chairman of Indian Atomic Energy Commission and Indian Space Research Organisation? / YR

YRHTY] Soll TN Ud HRAH Saf¥el SrEUrd WIsH & 27X e HiF 4?2

Vikram Sarabhai / ICER] WRT‘-I'I%

Abhas Mitra / 3THT i

Meghnad Saha / ﬁ'ﬂ?l?{ rel

® Subramanyam Chandrashekar / IgIVOH TSGR

Correct Answer :-Vikram Sarabhai / fa%H IRTHTE

20)
Question Stimulus :-

Dalal Street is in J qdrd "Eﬁ? H gl

° London/?i'a:f

e Paris /O

e Mumbai / Hd§
* New Delhi /=S feeeht



Correct Answer :-Mumbai / §&3

21)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg e gﬁtf,wﬁ el iy
ATRRT e FIHF R :

It is not True that both Vani and Kalyani like sweets. / q‘s’ﬁ?ﬁ%ﬁo‘mﬁ 3R Hegruit
3l 31 3t freTsal weie B
* Vani likes sweets and Kalyani likes sweets. / aTuft Y firaTgat ua=< € ofik ®earull &I
freTsai w< &
¢ Vani likes sweets or Kalyani likes sweets. / arofl &I fiaTgai U9 & 91 Searull &I frargar
Ta= gl

e Vani doesn’t like sweets and Kalyani likes sweets. /Wﬂﬁmmqﬁ%\?ﬁ?
FUTvil F frsTSal U< B

* Vani like sweets and Kalyani doesn’t likes sweets. /Wﬂﬂﬁmm%éﬁ?m
3i freTsai o= 78t B
Correct Answer :-Vani likes sweets or Kalyani likes sweets. /aTUﬁﬁﬁra'rsuT Tg=G 8 a1
FHeaol Fi fraTgal Wi 7

22)
Question Stimulus :-

This artist is a famous singer of carnatic music. / g PATPIR PHled TIftd BT Th m TITW/TITﬁ'a;T %:
® Uday Bhawalkar / 34 HdTcIhY
® M S Subbalakshmi / TH TH W&‘ﬂ
® Pandit Jasraj / ufSd sRTe
® Naina Devi / AT aa

Correct Answer :-M S Subbalakshmi / TH T gsaagH!

23)
Question Stimulus :-

Roopmati’s Pavilion is located in___./ FUHCT HSY _ﬁ' @ %I

® Raneh/ Tﬁ?



® Rajnagar / ISR

® Deogarh/ m

® Mandu/ 'H'IZ{
Correct Answer :-Mandu / Hig
24)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy 'ef, tl?ﬁ at uel & o= fopedt
TR A FIg day g| A fawea & F @rar ug g Rrger R ug & 1y S yorR &1 Jey 7]

Bee: Honey:: Cow: ? / q‘ﬂ'ﬂﬁ(‘ﬁ VBT : ?
® Animal / SITHdY
® Grass / urg
o Milk / GY
® Water / ST

Correct Answer :-milk / gY

25)

Question Stimulus :-

Anitha, Mahima, Rajan, Latha and Deepti are five cousins. Anitha is twice as old as Mahima.
Rajan is half the age of Mahima. Anitha is half the age of Deepti and Rajan is twice the age

of Latha. / 3ifry1,afean, e, @yt 3R dudt uig =28 98+ g1 s, affmr A sg o gt ot 31 o= &t
39 afear 1 amsht B 18yt #Y 39 Sudt & s } AR IS &Y 37 a1 A gL B

Anitha is younger than / 3T f5a B 82
® Rajan / oA
e Mahima / 'FI'%T-IT
e Deepti / Siudl
e None of these / 98 | ®I5 Ag)

(11)



Correct Answer :-Deepti / diudl

26)
Question Stimulus :-

Satyarth Prakash was written by / oty g fad gy feredt 11'{' T
® Dayananda Saraswati / QUI-¢ I
® Gopal Krishna Gokhale / mure Cal] mEa

® Vivekananda /ﬁam-—d

® Annie Beasant /E‘ﬂ a'\ﬂ?
Correct Answer :-Dayananda Saraswati / Q4T ¢ Il
27)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / & fawe gﬁrq,vﬁ el TP
¥ - fog T 3 & 99 §:

It is not True that both Kamal and Vimal are athletes. / uamqé‘r%ﬁfm GﬁTﬁﬂﬁﬁ
B B! B

e Kamal is an athlete or Vimal is an athlete / $Ud R § T faua o=l 8

e Kamal is an athlete and Vimal is an athlete / $Hd $ud! § 3N fawd Furdl 8

e Kamal is an athlete and Vimal is not an athlete / $Hd Hud! & MR fawa saxdt g 8
e None of the above / maﬁiqﬁ

Correct Answer :-Kamal is an athlete or Vimal is an athlete / $9d $I3d! & 9T faqd
AT B

28)
Question Stimulus :-

Who received the 50 Jnanpith award? / 50a7 JT-T9IS RYPIR e feam mar are
® Ashok Vajpeyi/ 3/RN® areTad}
® Bhalchandra Nemade / HTETG% HTS
® Raghuveer Chaudhari/ w ared

(12)



® Dharikshan Mishra / Yf¥&for iy
Correct Answer :-Bhalchandra Nemade / HTOT9g FHTS
29)

Question Stimulus :-

Who constructed Harminder Sahib? / ETﬁIH'\' HT%W DI ﬁlTI'fUT ﬁ)_\‘ﬁ ﬁ‘TCIT?
® Guru Nanak /¥ AT®
® Guru Ramdas / ¥ ITHQMH
® Guru Amardas / 3= 3HR G

® Guru Arjun Dev /T \’vﬁj:l éa

Correct Answer :-Guru Arjun Dev /& Gﬁj:l' |

30)
Question Stimulus :-

Who was the first vocalist to have been conferred the Bharat Ratna? / HIRd ¥ I m Ei | ug@r MMad aﬁT-r ) bd
® Lata Mangeshkar / ¢IdT TRIH
e Pt. Bhimsen Joshi / Uf&d Hiaa= eht

e Bismillah Khan / fafR7ear @‘f

 MS Subbulakshmi / THTH Jegaeft

Correct Answer :-MS Subbulakshmi / THTH Jega&HT

31)
Question Stimulus :-

Taxation comes under which of the following policies? / Wiﬂqﬁgﬁ A fora Hifa %?asa SATdT %’
® Fiscal policy / NECIN D]
® Monetary policy / 'lﬁ%:ﬂﬁ
® Employment policy / JorTR Hifd
® Wage policy / a1 Hifa



Correct Answer :-Fiscal policy / ISTHIYTY Hifd

32)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe ﬁ[ﬁ'q
St foT T Sy wd fAepuf & 9 A 9 B

Statements: / PYA:

Some people are clever / $9 GINEGIGIED %
Some clever are fools / P9 dldlPd 1{@?%
Conclusions: / fAwp:

I. Some people are fools / I. $9 Rt w%

II1. All fools are clever / 1I. ot q{ﬁm %
® Only conclusion | follows / *ad ey 1 fApadr %
® Only conclusion Il follows / aﬁﬁ ﬁWﬁf 1 ﬁﬁ?ﬂ %
® Both conclusion | and I foIIows/Eﬂ:ﬁ: frspy 1 3R 11 o %
® None of the conclusion | or Il follows / Ay rarIId A aﬁ% =|'E>pf Freaar %
Correct Answer :-None of the conclusion | or Il follows / fFed I a1 1T # & aﬁ‘é T fpear g

33)
Question Stimulus :-

The 51% district of Madhya Pradesh belongs to which division? / W SR o7 51 ai foren f5g Gy &
ferta 3TaT 82

* Ujjain / I&IF
 Narmadapuram / THGIQRH
o Jabalpur / SIEAGR
® Bhopal / vt
Correct Answer :-Ujjain / %19
34)
Question Stimulus :-

(14)



What is the meaning of the name “Vikramaditya”? / “fapaTfee” AT &7 3 f %?
® Sun of Prowess / BRI BT ?I!f
® One who is unbeatable / al ﬁmaﬁ el qﬁ ST HhdT %
® Son of the Sun god/'ﬁﬁ"ﬂﬁﬁﬁgﬁ
® Gift of gods / HITAT PI JUGIR

Correct Answer :-Sun of Prowess / ®IRId BT G4

35)

Question Stimulus :-

Who is the first Indian to receive a Nobel prize? / ﬁﬁﬁm Ured Wﬁ ara q?ﬁ YR ﬁq 2
® Kailash Satyarthi / Farzr et
® Venkatraman Ramakrishnan / 3®exH- RTHPWA
® Dr. S. Chandrashekhar /C‘ﬁlw YEIRAT
® Rabindranath Tagore / TSy AR

Correct Answer :-Rabindranath Tagore | TESTY SR

36)
Question Stimulus :-

A man told a woman, ’Your mother’s husband’s sister is my paternal aunt.” How is the woman related to him? / T

oY 7 U Aigen @ ®el, 'grR AT & ufa $ 989 A9 g3 7| 98 dfear Sud fhg 9w wefta 82
® Aunt/ 3Iid}
® Mother /AT
o Sister /g
* Grandmother / TGt

Correct Answer :-Sister / 981

37)

Question Stimulus :-



~) = - — -

If laptop implies a cheerful day, but it's lousy today, then it’'s not laptop. /Hﬁﬁﬂﬁ'ﬂﬁ)‘l
Taag gIeTd feA 8, Afp o 9ga w19 fa 8, ot a8 U Avery 181 2|

* True / Hgl

e False / Tdd

 Maybe / & &l @

® Irrelevant / 3TERIS
Correct Answer :-True / Tg!
38)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / e It 3R W ATHfa Ft ¥4 FI T T & T wics fparwmar 8, A Fu e A @
P A fave § wae Il 3R e T v & fauda &2

Correct Answer :-

39)
Question Stimulus :-

Identify the odd one out? / faus qﬁil'ﬁ H



® Professor CN Rao/ b ot TARIMd
® Sachin Tendulkar / Hﬁﬁaw

¢ Manmohan Singh / Hﬂﬁ?ﬁﬁl‘s’

* Atal Bihari Vajpayee / 37cd forgel areradt
Correct Answer :-Manmohan Singh / Hﬂﬁ?ﬂﬁl’s’
40)

Question Stimulus :-

A is sitting at right to B and B is sitting at right to D. If C is sitting right to A, where is B sitting? / AB Q?ET%%W o1

2 3R B D & GIfg" dRP A31 % | afe c A F GIfgH IR 9371 &, 1 B P&l 967182
* RighttoC/C P gIfgq
* LefttoA/A P TTY
® LefttoD/D®H AT
* Rightto A/A & CIfg
Correct Answer :-LefttoA/A & dT¢

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

If ENTRY is coded as 54367 and SAFE is coded as 9165, then how can FATE be coded? /
gfe¢ ENTRY @I 54367 & Sifsd fohar omar 8 3R SAFE &Y 9165 & ®ifsd f&ar &irar g, d@f FATE &I
& Pifsa fear o1 a@ar 82

e 9135

e 7135

* 6135

® 4135
Correct Answer :-6135
2)

Question Stimulus :-



| b2
Lad | b=t

Rahul can walk 5 km in an hour. How much distance will he cover in 3 hours? / Igd
1

Tes e A5 frftaa awargl a8 3 3 uuel ¥ fat g&t aa sem?

| b2

e 19km / 19 fodt

e 20 km / 20 fodt

e 18 km / 18 fost

e 17km / 17 foft
Correct Answer :-18 km / 18 f&t
3)

Question Stimulus :-

In a certain code language, ib ein eip means These great actors, ein tab kil means These

fine songs, and eip kil lot means Her great songs. Which is the word for actors in that code
language? / it @ Hs | ﬁ, ib ein eip T Hddd % These great actors, ein tab kil &1 Hddd
% These fine songs 3R eip kil lot &1 Hddd % Her great songs | I FIs YT H actors & ﬁl‘l'{ Cul)

T 32

® ib

® cin

® cip

® kil
Correct Answer :-ib
4)

Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / 9 vy ¥, T@ 4@ # TP UG Ted 8| TAd UG WA Do

3,9,27,81,249

(18)



® 249
Correct Answer :-249
5)
Question Stimulus :-

The average of 86, 90, 45, 69 and x is 73. Find the value of x? / 86, 90, 45, 69 3R x PT
3NHd 73 8| x FT 4H Fpried?

°* 70

° 74

® 75

° 78
Correct Answer :-75
6)

Question Stimulus :-

(18/9) x 11+(27/3)x4+(4x3)-(54/2)=?
® 40
® 35
* 30
® 43
Correct Answer :-43
7)
Question Stimulus :-

Complete the series choosing the missing number: / AW IWAT FAHR S@AT B TR BT :

80,73,66, /52
® 55
®* 59

* 60



e 58
Correct Answer :-59
8)

Question Stimulus :-

A, B and C enter into a partnership business investing Rs.1800, Rs.1500 and Rs.1200
respectively. If the total profit is Rs.500 then the profit share of Ais / A, B M C Th
TS TR IRE Hd ¢ O d HHR: 1800 F, 1500 = 3R 1200 = fa%1 #va g1 af¢ @@ @1y 500
¢, A S Y & T R

® 200
® 300
® 500
® 400

Correct Answer :-200

9)
Question Stimulus :-

What is the selling price of a dozen of banana, if the cost price of each banana is Rs. 1.20 & the profit on
selling 30 bananas is Rs. 5.40? /| $d & TP gui- $T f! ou A1 B, TS TS Ha BT AT Yo 1.20 T
8 3R 30 FA B fshl W ATY 5.40 T 872

e Rs. 16.56 / 16.56 TUU
* Rs. 17.56/17.56 Ul
* Rs. 18.56/18.56 $UA
* Rs. 19.56 / 19.56 Ud

Correct Answer :-Rs. 16.56 / 16.56 TUJ

10)
Question Stimulus :-

If 75% of a number is added to 75, then the result is the number itself. The number is / !T% TH ST ® 75% I

75 § ST oY, df U &g S € gl 81 e @

® 250



® 280
® 300
® 350
Correct Answer :-300
11)
Question Stimulus :-

3

A person has to cover a distance of 10 kms in 45 minutes. If he covers 4 of the distance in

o

|k

of the total time, to cover the remaining distance in the remaining time, his speed
3

(kmph) must be / T% afat 1 10 & #t g3t 45 e d 99 o 31 fe a8 4 o, PATHI B
A g3t Hrar g, @ 1B & g3 gH § gl @t 9 gt a4 w & o, swet wfa (fdty wer) | aftd

L k2

e 8km/hr /8 foHi/der
® 10 km/ hr/ 10 foeft/eer
e 12 km/ hr /2 fodit/der
e 6km/ hr/6 frHi/mer

Correct Answer :-10 km/ hr / 10 fooei/ger

12)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ e 33 T 9 ual A 9 i 33 T ud & S qwE S 91 @ 51 82
Mr. CHAN Kwok-kwong

Flat 25, 12/F, Acacia Building

150 Kennedy Road

WAN CHAI

HONG KONG

PEOPLE'S REPUBLIC OF CHINA

(21)



(i) Mr. CHAN Kwok-kwong
Flat 25, 12/F, Acacia Building
150 Kennedy Road

WAN CHAI

HONG KONG

PEOPLE'S REPUBLIC OF CHINA

(ii) Mr. CHAN Kwok-kwong
Flat 25, 12/F, Acacia Building
150 Kennedy Road

WAN CHAI

HONG KONG

PEOPLE'S REPUBLIC OF CHINA

(iii) Mr. CHAN Kwok-kwong
Flat 25, 12/F, Acacia Building
150 Kenedy Road

WAN CHAI

HONG KONG

PEOPLE'S REPUBLIC OF CHINA

(iv) Mr. CHAN Kwok-kwong
Flat 25, 12/F, Acacia Building
150 Kennedy Road

WAN CHAI

HONG KONG

PEOPLE'S REPUBLIC OF CHINA

(22)



® i

® iv
Correct Answer :-iii
13)

Question Stimulus :-

Selling price of an article is Rs. 7800, and this gives the seller a profit of Rs. 450.75. Find cost price? /

TP ] BT 3 Ted 7800 TUR B, 3R 50 Frshar Y 450.75 T 1 1 e 81 @ e 1 vt
TE?

 Rs. 7349.25/7349.25 $U4
 Rs. 8349.25/ 8349.25 U
 Rs. 6349.25/ 6349.25 TUA
* Rs. 5349.25/ 5349.25 $UY

Correct Answer :-Rs. 7349.25 / 7349.25 U4

14)
Question Stimulus :-

60% of 240 is same as / 240 PT 60% FIP JHT 8
® 20% of900 / 900 HI 20%
® 80%o0f160 / 160 PhT 80%

® 70% of 200 / 200 9T 70%

® None of these / E:I'l}l I ﬂﬁ'{ T8t
Correct Answer :-None of these / 399 | ®IS T8l

15)

Question Stimulus :-

The ratio of the speeds of two trains is 7:8. If the second train covers 400 kms in 5 hours, the speed of the first train is?

%ﬁaﬁaﬁwﬁmmm%lv%gﬂﬁéﬂsﬁ%ﬁmo%:ﬁaﬂgﬁaum?ﬁ%,a‘mﬁﬁaﬂaﬁﬁw

e 50 km/hr / 50 fpHY/EET

(23)



* 62 km/hr/ 62 fopet/der
* 76 km/hr / 76 fopeit T
* 70 km/hr / 70 fopeit T
Correct Answer :-70 km/hr / 70 fHfi/eier
16)
Question Stimulus :-
4PQ1 x 8QP = 38371Q5
Where P and Q are representing different numerals; what is the value of ‘P’? /
4PQ1 x 8QP = 38371Q5
gt p 3R q & fafia Wei® §, @1 ‘P &1 | &1 ghmm?
e 5
e 4
e 1
e 8
Correct Answer :-5
17)
Question Stimulus :-
Complete the series choosing the missing letter/s: / fITWT ST&R DY YWl DI GRT BT : ab_bc_c_ba_c
® baac
® aabb
® caab
® aaab
Correct Answer :-caab
18)
Question Stimulus :-

The value of "P, exist if / "P, &1 dF a4t g, afe
(24)



® n>r

Correct Answer :-n=r
19)
Question Stimulus :-

Complete the series choosing the missing number: / AW TBAT TAHY @1 BT T DI :

1,3,5,______ 911,

® None of these
Correct Answer :-7
20)
Question Stimulus :-

n-2+4n=3n+7+n, the value of nis / n-2+4n=3n+7+n, a n P FIFI%

Correct Answer :-9

21)

Question Stimulus :-

(25)
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In the sequence shown below, which figure comes next? / -d fR@™ T %4 ¥, 3rTell enPpfa
B A gRit?

Q O O00 Q_Q
olole O o
Q 000 ©C O C 0

QOO
O
o O

Q00
000

CO
000

QOO0
G000

CO
000

Correct Answer :-

22)
Question Stimulus :-

Complete the series choosing the missing letter/s: / fAqW &R GIHY 4T BT [T BIFOIT :
ccbab _ caa _ bccc _a _

® babb
® bbba
® baab
® babc
Correct Answer :-babb

23)

Question Stimulus :-



R L .

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / & & ¥ g &R} v TRASH BT SIHH YART Het 3| Terd T Ugan=i|

(i) Q093765985H7
(ii) Q098765985H7
(iii) Q098765985H7

(iv) Q098765985H7

® jy
Correct Answer :-i
24)

Question Stimulus :-

In a certain code language, kom nad lis means large circus tent, tif nok nad means tent is
pitched, and mar rit tif means sﬁe is crying. Which is the word for pitched in that code
language? / & W ®Is YW #, kom nad lis $1 Addd @ large circus tent, tif nok nad ®1 Adad

% tent is pitched 3R mar rit tif 1 Adad % she is crying | 34 Bis yoT # pitched ¥ ﬁ'l'l! T U
8?2

® kom

® nad

* iif

® nok
Correct Answer :-nok
25)

Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / g Gﬂ?ﬁ & g1 & o
Aqu "= #¢ feaet At @i $t sraxadar gt
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Correct Answer :-9

26)
Question Stimulus :-

In throwing of two dice, what is the probability of getting a total less than 4? / a s T I1Y e RIS BC )
HUTGAT § I TBI 31 & 31 $d 4 F 54 81?2

® 1/9

* 1/12

® 1/6

° 1/18
Correct Answer :-1/12
27)

Question Stimulus :-

If MYSORE is coded as OREMYS, how is CRADLE coded? / 4f¢ MYSORE &I OREMYS i
FIfed forar &iTaT 8, 91 CRADLE & $ Sifsd far wrar 82

e ELDARC

e DLECRA



e CRAELD

e ARCDLE
Correct Answer :-DLECRA
28)

Question Stimulus :-

In throwing of two dice at a time what is the probability of getting a total of 2? / ?ﬁ uﬁwwuﬂ'ﬁ?wl el

HYTGHT B 1 AT 3 & ForaeT Fet 2 g
* 1/36
* 1/12
® 1/6
® 1/9
Correct Answer :-1/36
29)

Question Stimulus :-

A can do a job in 10 days and B can do the same in 8 days with the help of 'C’, they did the
job in 4 days. Then in how many days C can alone do the job? / A &t &1 ®1 10 fRAi & &7
Thd g 3R B 3 & &1 8 i & &3 APpar g, ‘C’ &) Ggrar A 311 4 &A1 A o9 ) = foran) v 59
P P C 3Apd fHa A & H GFHar 82

® 40 days / 40 feq

® 44.days / 44 f&H

e 36days / 36 f&

e 32days / 32T
Correct Answer :-40 days / 40 fe
30)

Question Stimulus :-

In a certain code language, Nice Monday Night means ki ps ro, Every Friday Night means
eh ti ps, and Nice Food Tonight means la ko ki. Which is the word for Monday in that code
language? / & @ HIs YW #, Nice Monday Night &1 Hd@d § ki ps ro, Every Friday Night
Wﬂgﬂﬁ% eh ti ps 3R Nice Food Tonight &1 Hddd § la ko ki | 3H! &8 HNT § Monday & fae «am
Qe 2?2
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® ko

Correct Answer :-ro

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Metals with low melting point are used for making / g e ara Urq o1 T 3@' §91 | fHar srar % i
® Switches / ESE]
® Fuses / WSl
® Wires / dI¥
® Battery / LK

Correct Answer :-Fuses / TSI

2)
Question Stimulus :-

Frequency is expressed in / \"’vﬂq&l & ad forar Srar % Eﬂ'l}l -
® Metre/second / tﬁ?{/ﬁ%ws
® Metre / Hiew
® Second / AHUS

® Hertz / 'En'éTrl
Correct Answer :-Hertz / §edl
3)
Question Stimulus :-

The minimum value cosec O can take when O is an acute angle is / §94 O ?Eﬂﬁ'UT

8l cosec O &1 fAydH aF ferar o1 g g

(30)



Correct Answer :-1

4)
Question Stimulus :-

ABCD is a parallelogram with AB=BC=CD=AD=9cm. Find the perimeter of the parallelogram / ABCD U®h HHIdR

TGS § TUT AB=BC=CD=AD=9 T} ¥ | 3 FHIR IgH &1 ulkATT 710 FIfw|
® 3.6m
® 81 cm
°* 0.81m
® 36 cm
Correct Answer :-36 cm
5)

Question Stimulus :-

A device used for measuring the force acting on an object is / Y d¥] UX W 9rel 96 &I {49 & ford 39 97
®1 UGN fopar wraT 8

® Pan balance / UTd dRTy]

* Barometer / ARIGIGHTUY
® Spring balance / QTH'F'ﬂ'q"R ddr
® |actometer/ QTWT-ﬂ

Correct Answer :-Spring balance / FATHIGR gal

6)
Question Stimulus :-

The circle graph given here shows the spending of a company on various extra curricular
activities during a particular year. Study the graph carefully and answer the questions

(31)



given below it. / f&ar a1 ga@R UTw TH AR af & ureaww & sifafved fafie wfafaftal w $uit &
Tl B! ITaT 81 UTH BT AT YD HY 3R A1 3w usl & I diforgi

Others

How much percent more is spent on Sports than that on Culturals? / Wﬁ Ca| LEEL A @d W fraar ufawra sifte
g garm 82

* 27%

® 35%

® 37.5%

* 75%
Correct Answer :-75%
7)

Question Stimulus :-

The circle graph given here shows the spending of a company on various extra curricular
activities during a particular year. Study the graph carefully and answer the questions
given below it. / {31 7T qa@R UTw T ARE ad | ureawmy & sifaivea faftm wfafafel w so=it &
T P ST 81 TP P AU AFYdP B 3R 19w wef F Iw e

(32)
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Others

If the total amount spent on extra curricular activities during the year was Rs.1,80,00,000 ,
the amount spent on Team outing exceeds that on Team lunch by: / af¢ 9 & R UrsTHH
¥ srfafvaa nfafafr wR & @ 1,80,00,000 FUT Y1, 99 A7 MEfET W fban ar T & &9 w gu @
¥ foraar siftre ot -

® Rs.2,50,000

® Rs.3,60,000

® Rs. 3,75,000

® Rs.4,10,000
Correct Answer :-Rs.2,50,000
8)
Question Stimulus :-

An angle whose measure is more than 180° is called a / TP B forgsT HIT 180°
JafRep 8 AT gl

e Straight angle / 59 ®IUl

» Reflex angle / wfdad o
» Right angle / @@ iU

* Obtuse angle / 3if& ST

Correct Answer :-Reflex angle / ufaad i

9)

(33)
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Question Stimulus :-

log;o80 / o 108102 =03010 5 log,, 80

If log),2=0.3010 , the value of

T HE gl

S

® 1.903
® 1.602
® 0.903

® 3.903

Correct Answer :-1.903

10)
Question Stimulus :-

The circle graph given here shows the spending of a company on various extra curricular
activities during a particular year. Study the graph carefully and answer the questions
given below it. / f&ar a1 gar@R UTw TS AR af # ureasww & sifafked fafie wfafafeal R St &
T B =TT 31 TP P AT SAFYAS B 3R 1 Rw wet F 3w S

Others

Annual event

81"

How much percent less is spent on Quiz than that on Annual event? / affe smaeH @t LGEL H Ut R feaqn
wfo=ra &0 W gom 82

® 222/9%
® 27%

® 331/3%
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® 371/2%

Correct Answer :-331/3%

11)

Question Stimulus :-

The circle graph given here shows the spending of a company on various extra curricular
activities during a particular year. Study the graph carefully and answer the questions
given below it. / f&ar a1 gar@R UTw UH AR af # ursaww & sifafved fafia afafafeal R St &
Tt P S=Tar 31 TP P71 AU AHYdS B 3R 19w wef F Iw e

Others

If the total amount spent on extra curricular activities during the year was Rs.2 crores, the
amount spent on Annual event and Sports together was : / af¢ 9 & IR UTeTHH & Sfalad

iRl R F T 2 FAs T U, 99 e e R Wd W T @t Ty Ay G
® Rs.8,00,000
® Rs.80,00,000
® 1,20,00,000
® 1,60,00,000
Correct Answer :-Rs.80,00,000

12)

Question Stimulus :-

Seas and oceans are full of water on earth. However, a very small percentage of water present on the earth is available

for us. This percentage roughly is, / 1]‘?-51' memﬁﬁlﬁ HRT g3IT %, tﬂﬁﬁﬂ mmﬁﬂ’,ﬂﬁ
BT TP Sgd Siel A1 Ufa=d Iuasy 8| T8 ufer<rd & o -
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0.006%

0.06%

0.6%

6%

Correct Answer :-0.006%

13)
Question Stimulus :-

A, B, C hired a car for Rs. 520 and used i_t for 7,8 and 11 hour§, respectively. The hir.ing
charges paid by B is: / A,B,C 7 520 34l # Us &R I W oft Ud sUHT HH: 7,8 T4 11 ¢ dF
IUANT fHar1 B §RT Ya far war fmn 2 :

® Rs. 140
® Rs. 180
® Rs. 220
® Rs. 160

Correct Answer :-Rs. 160

14)
Question Stimulus :-
PQ is a chord of length 8 cm of a circle of radius 5 cm. A perpendicular OR is drawn to PQ
from the centre of the circle O which meets PQ at R. Find the length of OR. / 5 9. =T
a1 ga P oiar PQ 8 @l @vars 8 9. 31 3d & % A Us @%@ OR, PQ WX ST iaT @ o {6 PQ & R
R fiear 31 df OR 31 wiaTs FId Do |

® 4cm /4'\q1ﬂ

® 5¢m/59H

e 3cm/39H

® 20/3cm/20/3 9Tt
Correct Answer :-3cm /3 a4l
15)

Question Stimulus :-
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Cholera, typhoid, jaundice are classic examples of disease spread through / %’GIT, CWPIgS,
diferar 39 A & e Igreur ¢ o b @

® A. Polluted water /W CE:]

* B. Polluted air / g a1 |

® C. Polluted food / g We= &
* D.Both A and B /Gl A 3R B

Correct Answer :-A. Polluted water / gid od &

16)
Question Stimulus :-

What is referred to as ‘Black Gold’ / <P Tes D1 94 %
® coal /aﬁw
® petroleum /ﬂaﬁﬂm
® Both A and B /&I A 3R B
® graphite /'a'm
Correct Answer :-petroleum / UeITeraH
17)

Question Stimulus :-

What do you understand by “crop”? / “thd¢l” T 3T T '\‘TFSI% %?
® A large collection of plants / urel &1 TP I3 9I8 %
® A large collection of students / BE BT Udh d3S1 IUg %

® Many varieties of plants are grown in a placelgﬂﬁ 3P PR & UY Th 'é’f Y # I ST %

® Plants of the same kind are grown and cultivated at one place on a large scale / Uh a T WX a@ HT=T H

A UPR & N I 1 ? 3R oy gt

Correct Answer :-Plants of the same kind are grown and cultivated at one place on a large scale / T 'é’t JYT

W TS A4 § T TSR & 0 I o1 € SR i gt @

18)

Question Stimulus :-



What is the area of a circle of radius 2.1 cm? / 3 g &I &FAwd 1 g ot s 2.1 I %?
* 63cm?/639H 2

e 22cm?/ 229 2

* 13.86 cm?/13.86 9HI 2

e 56.7cm?/56.7 9 2
Correct Answer :-13.86 cm?/ 13.86 9HY 2
19)

Question Stimulus :-

Winged seeds of drumstick and hairy seed of madar (aak) are carried to distant places by / ?ﬂ:lm & g?lTI'ITﬁ e
3R AR & NAGR €I I & # 9% gRT A W14 &1d &

® Crow/ CaC|
® Animals /U]
® Water /STl

® Wind/dlg

Correct Answer :-Wind /dlg

20)

Question Stimulus :-

A person takes a loan of Rs. 200 at 5% Simple Interest. He returns Rs. 100 at the end of 1 year. In order to clear his dues at
the end of 2 years, he would pay: / TP 3TGH! 5% TR SIS U 200 FUT BT ol odl 2| 98 Th 94 & 3id
# 100 ¥UT U9 T 81 & Ul & 3id W (U= IHTY ART BT YT H & 1T, I/ YT BT g1

® Rs.115
® Rs. 100
® Rs.116
® Rs.110

Correct Answer :-Rs. 115

21)



Question Stimulus :-

The foundation of the building are laid on a large area because / Had @1 H1d T §8 &7 W W@
STt § T

® it makes it attractive / q 3'@ 3THYD FATd! %

* the effect of force is decreased by increasing the area / &7 § gf #1 d 96 &1 UHG $9

B T 3
® pressure is large on the foundation due to its structure / 3'\“3% F19¢ & HROUT Hid W) qld 3rfirp EﬁT'IT %

® weight of the building produces more Pressure on the ground / Hd" Pl dold WHA W arfte old 349
Pal @

Correct Answer :-the effect of force is decreased by increasing the area / aa o q@ Cre)
¥ 96 BT YUTT HH gl 91T 8

22)
Question Stimulus :-

During electrolysis of water, the gas bubbles formed at the cathode is that of / SI¢l & ﬁ?"q—d 3y & ia'{l:l',

Fie R I 9@ T S goga fpad e &

® hydrogen /F@@Tﬁr
® oxygen/ TR

® nitrogen / q’@'ﬁ?

® carbon dioxide / P _S'Igﬁﬁﬂ'\‘lﬁg
Correct Answer :-hydrogen / BT S oI
23)

Question Stimulus :-

The circle graph given here shows the spending of a company on various extra curricular
activities during a particular year. Study the graph carefully and answer the questions

given below it. / 31 7T qa®R 1w T AR ad | ureawy & sfaRea faftm wfafafeal o= ot &
T P ST 31 TP P AU AFYdP B 3R 19w wef F Iw e
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Others

B e e R

What percent of the total spendings is spent on Team lunch? / ¢ @l &1 fPa-T ufawra &9 &9 ) @ gl %?

Correct Answer :-12% %

24)

Question Stimulus :-

12% %

22% %

25%

45%

The stage at which the female human body is capable of reproduction is called / dg AT SId Tl'%ﬁT {4 IR

dred & a9 @ ot @
e Childhood / STCITARIT
* Ppuberty / TaARY
* Menopause / TSlITgial
* Adulthood / TIGTARAT

Correct Answer :-Puberty / TGARY

25)



Question Stimulus :-

The only prime number between 90 and 100 is / 90 3R 100 ¥ s
$ad TP 3 T&AT g

° 91
® 93
* 97
® 99
Correct Answer :-97
26)
Question Stimulus :-

Some ponds have a green cover over them. This is due to growth of / $© qreTEl & HUR Y
1 BT TR0 gl 81 T8 fhaat 3ig & HRor g &

® Dinoflagellates / m
® Algae /ﬁam
® Bacteria/ \_rﬁ'aTUj
® Fungus / hdd
Correct Answer :-Algae / dTd

27)

Question Stimulus :-

The value of P in the following is / FffR@T A P FTHM oevveeeeee gl
8 Q
%+ P 9
1 3 P
® 6
e 3

° 4



° 2
Correct Answer :-4
28)

Question Stimulus :-

Each sperm has a head, middle piece and tail. What is the purpose of the tail? / @Y [PIU] BT TP ﬁﬂ, HY HTT

T US il 81 §o &1 1 SEXa @2
® To move and reach the egg /T PR S dF 1TIgiF'IT
® To fight with the other sperms / 3= W\;ﬁ ¥ GERL
® To hold, to prevent falling / fiRAd T & ﬁl’l! b Sl
® To catch hold of the egg / 38 P UHST

Correct Answer :-To move and reach the egg /T B IS aF qg't'l""IT

29)

Question Stimulus :-

The metals like gold, silver & platinum are found as / H.'\?T, iﬂa Gﬁ? ‘ﬂﬁ?ﬁ ﬁﬁ Urq m g o U W %
® Minerals / @

® QOres / 3A¥H

® Compounds / Qi
® Free metals / Ha&d UTd

Correct Answer :-Free metals / o HTq

30)
Question Stimulus :-

In solids, generally heat is transferred by the process of / 3 ﬁ, AT : ST BT AR 39 uferar

® Convection / ddgd
® Radiation / fafeor

® Conduction / dTd-
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® Reflection / T

Correct Answer :-Conduction / T4



